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) 1. FTP is a client-server application that allows a user to log on to a remote machine,
giving the user access to the remote system.

) 2. B3 IPv6 &9 & % > [P(Internet Protocol) address &5 4 18557 45k, B8 5%
FA” B Fak, BB EE A 0-250 » 3£ 32 bits e

) 3. TANET 589 % & % 27 -
) 4. OSI model ¥ data-link layer &) =i &
172 -

) 5. In time sharing system, each job can be allocated a portion of time to use the
resource.

% ik B HAZ ~ @ F AR connection & routing

) 6. A process is a program in execution. It is a program that has started but has not
finished.

) 7. Windows XP &4\ & & /& # menu-driven & % =, °

) 8. Demand paging is similar to paging except that all pages need not be in memory.
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) 1. The layer of the TCP/IP protocol suite is responsible for
source-to-destination delivery of the entire message.

b. data-link c. network
) 2. What is the domain name in the email address linss@csie.ntnu.edu.tw?
b. csie.ntnu.edu.tw c. linss@csi.ntnu.edu.tw
) 3. is a protocol for mail services.
a. FTP b. SMTP c. TELNET
) 4. The OSI model has layers.
b. Six d. Eleven
layer of the OSI model compresses and decompresses data.
a. physical b. data-link C. session
) 6.7 Z Bl 7> 5 B e 25 6 Al - AT B 2R 7
a. david&dcs.ntu.edu.tw & F 2449 E F AL hk
b. 140.150.300.15 2 A % &4 IP fr sk
c. Telnet =T F 2R 3E 3% B4k
d. DNS A # E% 84 4 -

) 7. Window 2000 1 ¥ 2 A = BT A —# 4 4.2
a. time-sharing systems b. batch systems

a. transport d. session

a. linss d. edu.tw

d. HTTP

a. Five c. Seven
) 5. The

d. presentation

c. distributed systems
d. parallel systems

( 4 H8HEEz&mseres: PEREAETELFKLER b EIEAFNE
C. BATIEA KA - R IATE AT F ZIRF d XERH -
( )9 F P HE R ZE A B parallel computers #9443 ?
a. Several instructions ($5 4) are executed at the same time in a CPU.
b. Computers can process several programs simultaneously.
c. One program can be divided (with caution) and executed on multiple CPUs.
d. Supercomputers (#2 4% & F%) are parallel computers.
( :j ) 10. Linux & —#&
a. BREBZT b. ¥4 % c. BIEH A% R I B Y
( 0 ) 11. The job scheduler and the process scheduler are under the control of the
manager.
a. project b. memory c. file d. process
(  )12.DOS is considered to be a operating system.
a. parallel b. personal c. batch d. distributed
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1. A user uses a browser to download a game program. What type of document is downloaded?
octive document™
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4. BRABOEX LK/ L)L VAN (wide arto neqwork ) o

5. TCP/IP % L & o

6. The IP addresses of NTNU 140.122.*.*. Assume all IP can assign to computers, how many
b
computers can be assigned with IP address start with 140.112? >
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8. Process scheduler & 3% process é’J fr_@. state -

f%’

P + . hY
4 7)’\7§ ),gﬂ/i.g ;,73“) o




9. % BREMARIE > CPU AT 474 Tl a2l (RO 8 2 X — Ao 3 5050 4042
Bz bootstrop (PA445 75 N boigzs A\ %&Vﬁﬁﬁﬁﬂﬁﬁifi
%%%%ﬁwﬁ%ﬁ;%%o

RSB EARER_ virtnal wmewory F T T AR AR A R A 8 E 3808

*Wuﬁﬁ%ﬁﬁ%ﬁﬁék%ﬁﬁ%%ﬂ°

11. monoprogrammmg 7[55 {’H“Jl 257

12. 3% 4 Deadlock £ A 8y 44+ F—14 -
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13. 4 Dining philosophers problem(# £ R # L) P » w FRMR T 2 EMLBEAER X HE
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Program
Inactive on the disk
Job Becomes a job Becomes a programT

Enters Memory

Process

Get access to CPU

-

Time slot exhausted

I/0O requested ;
or an interrupt occurred :

15. FEEFPHRFTHRERAMERYSBEEREECEFABRTR > nEBRHE
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16. & Demand Paging system “}7 157 38 A Swap out ?
7?““3{/ e {/;N‘ 0
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17. F B 89 2244 7T #% & Demand geqmentation system °

user’s view: procedure
it segment

Program is
a set of
modules.

18. Three processes (A, B, and C) are running concurrently. Process A holds Filel, but needs File2.
Process B holds File2, but needs File3. Process C holds File3, but needs File2. Is this a deadlock
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situation? ye§ Why? e DT L

19. A multiprogramming operating system uses paging. The available memory is 60 MB divided
into 15 frames, each of 4 MB. The first program needs 14 MB. The second program needs 12 MB.
The third program needs 27q MB. How many frames are used by the first program?

b How many frames are unused? | What
is the total memory wasted? EYE:
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